AGS 3 Name: Period: Date:

Notes L"."

Warmup — Perform the indicated operation
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Investigation — Solving equations with rational expressions.

How do you think you might solve this equation? ==
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Steps to solve this type of equation:

x2 x x?

1 Find o comawon ALNominator (D x*

2. Rewni¥e 9o each rarionad 4o 5(x) L

Dpressione \as e Commen - x2 A0y P
Adonominator

3. mm‘n‘p\% c\/a.rué Xex mn \QUK "\( ) : éx___(i(f/) . \ ( )

W ommen - denominador /" -
concel ocut
4, 5 ; =B
Wrike e S\mp\\%ed TP
Qétuw\'\'m
~ =ow|
5. Sowe, Y Mwad/'ﬁh =
5 =5k
)(:
6. Check Hw soluhon 1D y s
T e 2
Sep B \S  exthraneous. iaked ("




Practice:
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